fem brek, operasjonsrekkefolge med parenteser

&

StudentName: ExamDate: ExamScore:
1 32 22 32 1 12 1 1 12
—+ )Y -Z(Z—(2))= — +(= —+(=+=) =
G+ 3G-GD G+EM* 3+ G*3

2 12 11 3 22 2 1 2 12
ZH Y+ (=4 D)= ZY 4+ ) o= (2 —2¥ =
(337 %3G%3) (r*+3)*3-G 73
22 3 1 1 12 12 2 3 1 32
— —_ — — (- — — e . I _-|—_—_ —
((3) 2)>< 3 (2 2) ((5) 5)>< 5 (4 2)

12 2 3 ) 1 12 3

— Y+ - +3°= = )Y - (2 + )=
3 5) 3 4 3 (3 3) 4(

1 1 3 3 2 3 1
@4+ P+ 55 GP-D"z G
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fem brek, operasjonsrekkefolge med parenteser

StudentName: ExamDate: ExamScore:
1 3 ) 597 97 1 1 5 1 1 1 > 89 14
— 4+ 2y - — = =1-_— — 4+ (= —t+ (=t =) =—=1—
(2 5) ( (3 ) )= 500 500 (3 (5) )% 2 (2 2) 75 75
2 1 ) 11 3 979 79 2 5 2 1 2 1 > 239
Y (=)= =1 — Y+ )Vx ——(Z - ZyY =2
(5 3) 2(2 5) 900 900 ((5) 3) 3 (5 2) 900

2, 3. 1 1 1, 19 1, 2.3 1 3, 2693 . 69
SR xm— (2= =P = (— e e =1
(G =)*3- G737 =05 (37 =3*357G 737 3000 ~ 2000

5027 227 I 1 33 1
=50~ 16 (373" 3G

G- - +3
300 300 3 3 42 3

11 3
)= (_g) = (_lg)

o) =T (P DX 3G 3F = (g (o)

(4+1)2+%—52—1
6 3 5 180 180 2 3 4500 4500
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